Source of Variation
DF
Sum of Squares
Mean Square

Interaction
4.0
4308000000
1077000000

Time
2.0
314300000000
157200000000

Column Factor
2.0
21520000000
10760000000

Subjects (matching)
9.0
17040000000
1893000000

Residual (Error)
18.0
13920000000
773400000

Total
35.0
371100000000

Does Time have the same effect at all values of Column Factor?

Interaction accounts for 1.16% of the total variance.

F = 1.39.  DFn=4 DFd=18

The P value = 0.2762

If there is no interaction overall, there is a 28% chance of randomly observing so much

interaction in an experiment of this size.  The interaction is considered not significant.

Does Column Factor affect the result? (Are the curves different?)

Column Factor accounts for 5.80% of the total variance (after adjusting for matching).

F = 5.68.  DFn=2 DFd=18

The P value = 0.0253

If Column Factor has no effect overall, there is a 2.5% chance of randomly observing an

effect this big (or bigger) in an experiment of this size.  The effect is considered significant.

Does Time affect the result? (Are the curves horizontal?)

Time accounts for 84.70% of the total variance (after adjusting for matching).

F = 203.22.  DFn=2 DFd=18

The P value is <0.0001

If Time has no effect overall, there is a less than 0.01% chance of randomly observing an

effect this big (or bigger) in an experiment of this size.  The effect is considered extremely significant.

Was the matching effective?

F = 2.45.  DFn=9 DFd=18

The P value = 0.0507

If matching were not effective overall, there is a 5.1% chance of randomly observing an

effect this big (or bigger) in an experiment of this size.  The effect is considered not quite significant.
